RGSLS iR Sector graphs

Use these sector graphs to answer the questions that follow.

Por each sector graph, describe in one or two

insert suitable categories.

paragraphs what is being shown, For Question 5,

T

Area sizes of Australian states
(and one ferritory)

2. Favourife pie flavours

4, Ttems stolen in home burglaries

6 How Samantha spends one day
(nu_mber of hours in brackets)

Workcsheet 13-02 continued

f o

1 Areasizes of Austrakian states
a Which is the largest state? o/ A\
b Wikich state is represented by Ft_l}@ .s;etor
that bas been left blank? ACT

4 Tterus stolen in home burglaries

Which is the smallest state7ACY /
Which {s largér: NT or Queensland? @Heemhﬂd“}hjch twao items combined together

Which two states or. territories togethar

make.up roughly half of Australia’s %ﬁé‘? wére Do burglars steal more TV sets or more
Australia’s total area is 7 682 300 km2. computers? /

ri,‘ﬁVhich state’s area 1s 1 727 106 km2?
ii ‘Bstimate WA’s area." .

£ 4
g ‘The Ausialian Capital Territory (ACT) wiecayté 2l stolen property? €29, Clam

could not be shown on the graph. Why?yb 15

h Which is Jarger: NSW.or SATS

i Which state takes up approximately % of
Australia’s total area?

i Approximately what fraction of
Australia’s total area is taken up by NT;,
Queensland and NSW, combined? .%

2 Favourite pie flavours 7

a Which item is stolén the most? Why? Sther £
b Which item is the second most stolen? I (2,7

¢ Do barglars steal more audioc equipment :
ormote video equipment? — Fletseah ae s

make up 41 of all stolen property? &e\'\gg

f Which item is stolen the least? Why'zcke.j’g

{ ) Which three items together make up L of .
P Aods

stal amount as camerasPe

5

a 1 Which is the most popular ple flavour? Plaia

ii, Do more than or less than half of the
people prefer this flavow? pofe than

et

It ‘Which item is stolen about the same

=5 TV

1 Approximately what fraction of stolen
property is audio equipment, video/DVD
equipment and cash combincd?_%%)%

Tom’s $3500 holiday

Show hew Tom spent $3500 on his holiday

by placing the following categories in the

appropriate sectors: Airfare; $1000, Hotel:

3600, Bus/Train: $100, Shopping: $1225,
eals: $150; Theme parks: $280, Gifts/ -

b Which is your favourite pie flavour? Pe torly” souvenirs: $150.
¢ Do more people prefer Potato or Curry? Pd:§,

d Which two Aavours are preferred by the,
same amount of people? S*e‘;‘g‘*ﬁe&’“o ‘
€y Which theee flavours together make up J

roughly { of the total? Predee ak m/

T Do more people prefer Chicken

g Ifyou owned a pie shop and haked 100
pies o sell each day, how many “Steak
and Onion” pies should you bakeZ. 34~ iy

I What would be gn example of an ‘Other’
flavour? & _361:0 " Cwe/

3 Number of TV sets owned at home

a How many (wprking) TV sets are at your
home? 3 / 7

b i Whatis the most popular nunﬂy{or‘

© TV sets owned per home? )L -

How Samantha spends one day .
a I How many hours are in one day? M :
H How many degrees in a revolution? 60" &
b 1 How many hours does Samantha {, 14 s
spend at school? ]
il What fraction of the day does | e /
Samantha spend at school? - 4
Which two of Samantha’s activities take
up the same amount of time?4 paf ¥ o
i Which acfivity takes up the most time? g1¢€
it How many hours does this take? A /
How much time does Samantha spend on
homework? :ﬂ\ 5
Which two activities together take up : /
of the day? Hevaetovie %5 pors
Is more time spent on homework or TV?
It What fraction of Samantha’s day is spent

i Does this number represent mora than / on meals? -t

or less than half of all households?mare
.. . haan
[ ﬁApprOleater what fraction of | ﬂi-
households own exactly one TV set?a 0
‘Less than half of all households owi
three TV sets.’ Frue or false?
What does "Other’ mean? &' :
- ‘More than 3 of all houscholds own /
- either one or two TV sets.” True or false? T

‘Samantiza spends more then } of the day
asleep.” True or false? ¥ :
J 1 What fraction of Samantha’s day is
spent eating, sleepingand travelling
combined? Jz ;ﬂ

ii How many hours is this? {2 hys "/
K Draw a secfor graph to illustrate how you
spent your day yesterday.




Worksheet 13-03 continued

Workshéei: 13-03 Gréphs 1

5
. 1 Altona Jeans saies (January-March) d How many families had one child? “ . / i
: : This graph shows the sales figures for the e How many familics were surveyed? 2 5
Use these graphs to a?sw?r the questions that follow, _ . NSW branches of Altona Jeans, 3 f Which munber of childron was £
For each graph, describe in one-or two Pparagraphs what is being shown. a What type of graph is this? W represented in six familiog? /
. (=33 Oa
1. Altona Jeans sales (January-March) 2, * Neil’s temperature
L. e o

b How many jeans does gircprcsemm £ How many children i&your family?
& u/ 4 Endangered spectes

¢ How mapy jeans werg sold in: -

R - a What is shown on the horizon al‘axisz/
[ :
. Yanco % iif B&gﬁ'{;{h Orange?25 / b Which country has t1§e ﬁ)‘ﬁr‘éls?s{:‘;l‘m er of
d \:Vere mcise;’eaﬁss scc?ld in Kem or endangered species? Sy ai } 300
Forbes? -&§é" € 'What i the scale on the vertical axis? 328

e 1 Which branch sold the fewest jeans? \fy‘: Ccd :Vhlfilsg?‘:wfii ab;lg.f?ggda gered
ii How many did that branch sell? 100 ¢ HP::’ mau} endangered species hds
f Which branches sold 660 or more pairs of Australia? &0 % £
. s !
Jeans? (4 oul\)\.tr N MO rg < f Name one endangered pecies in
g How many more jeans were sald in Austrglia. Dingl®
?Olbe.‘? than in Orange? ) 5 O v . g What is the difference in the number of
. ‘Cloulburn sold more than bwioe a5 b endangered species in the USA and in
Jeans as Orange.” True or false?’r 750

. Australia?
i 'What was the total number of Jjeans sold - ;
A < h ‘“The USA has niore endangered species
SLANS .
inallstores? 2, 6OO.A than the other fiye coydiries put together’.
True or false?

o FURAR T
o RRRRAR R
~ AR o

3. Nintber of children per family ' 4 Endangered species

2 Neil's temperature
‘This graph shows Neil’s body temperature
over part of a day in hospital.
a What type of graph is this? tine graph

b For how many hours was Neil's a What type of graph is this? 3€ ¢ tor

letnperature n_lcasurcd? ghrs b What is the most common reason for
¢ What was Nfl/l’s temperatur;?t: / road service? (3 et -H'QVS
t 8:.00am? i 11:00 7 viii 9:30am? ;
! il [0S 5% 5ec ¢ Whatisthe least copman reagon? /
d i ‘;thil&:as Neil sst-emperature tﬁ% d What pﬁ'w%g ofgsgrcﬁbcé%mg are for:
Nighest? 5100 oo i flat tyresTAetor 4, wheef
fi What was his temperature then? G O°C

il being locked out of the car?(G°f,,
e At what ime(s) was Neil’s femperature: X .
. o A A ) o ¢ Domore drivers have electrical problems
1 396°C7 / it 37.8°C2 /i 3g3°cy,/ o

-5 Reasons for road service
This graph shows the reasons road service
providers such as the NRMA are called out.

| ENDANGERED SPECIES nmrorsxconmmms

—Humberoftpecics

i 2 3 4 Scoth,  Mexiwo  Braml

» ) o 0 . or ignition problems? :
Number of children Al t dBJZ“I:Tee; u:éuch twtc:lcogsecu;we .';t)' all é:" ‘i“"'f ‘Flat hatteries are the cause of over ! of !
: _ eil’s temperature drop drambtically : s :
3' * - g i When was Neil’s temperature lowest? % 2vng i;;(:ts zarr:::s c;a]]s(.);l:;z;zx?!ﬂ;cs‘; . r i
% 8, Reasons for road service 6. Snowfall i What was his temperature then?37, @“C P J-Lf-(ﬁ-o.u_{_;_ {‘?M'h % i
h How many tintes did Neil’s temperature i nowla {
R increase during the day? : :I‘Ius gxfaph shqws the depth of snow /
_ 259 - . . Increasing during a snow storm.
g 204 . 3 Number of cluld‘rfen per family & Forhow long did the snow storm Jast? 1.5C0K
\g @ A number of families were surveyed b Whatis the scale on the horizontal axis of
g 15 regarding their number of children. This '

the graph? 480 hes “Tim €

Y 1o graphshowsthetesultsgfthesurvey h ¢ Tn which hour did the depth of snow
£ * bt P etgraphisiCOlumn e e o s
0 — b P.Io‘.w%m:ny fatrlmhes h:m twochxldrcx;‘};g - d What was the increase in depth between :
R c i at Was the most common number . 00 [} i
EE 554884 8 L as ¢ 10:00am and 12:00n00n? &RCH" | 3 ;
; 2 3 £ 8 5 58 3 . ofchl[drenmafa'mﬂy ?h&. 4 e Inwhich hour did the depth rezch 2 m?! ;
: g§888¢g8s8¢g it How many families had this “{’gb"fy £ 1 Inwhich hour did 5%3 lcaff:ﬂﬁi}%snow 17 274 :
s T;sH - il How much snow f2ll ih thi& hour? 5 i
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Use these sector graphs to answer the questions that follow,
Por each sector graph, describe in one or two paragraphs what is being shown. For Question 8,
insert suitable categories.

1.

Area sizes of Australian states
(and one territory)

2 TFavourite pie flavours

Steak and
mushroom,

Steak and
tomato

3.

4. Items stolen In home burglavies

6.

How Samantha spends one day
(mumber of hours in brackets)

Other (4)
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Worlisheet 13-02 continued

1 Area sizes of Ausiralian states

Which is the largest state?

Which state is represented by the sector
that has been left blank?

Which is the smallest state?
‘Which is larger; NT or Queensland?

Which two states or femitories together
make up roughly half of Australia’s area?
Australia’s total area is 7 682 300 km?2.

i Which state’s area is 1 727 196 km??
if Estimate WA's area.’ :
The Australian Capital Territory (ACT)
could not be shown on the graph, Why?
Which is larger: NSW or SA?

Which state takes up approximately % of
Ausltralia’s total area?

Approximately what fraction of
Ausiralia’s total area s taken up by NT,
Queensland and NSW. comnbined?

2 Favourite pie fiavours

a 1 Which is the most popular pie flavour?

il Do more than or Izss than half of the
people prefer this flavour?”

Which is your favourite pie flavour?
Do more people prefer Potato or Curry?
Which two flavours are preferred by the
same amount of people?
Which three flavours together make up
roughly ; of the total?
Do more people prefer Chicken or Curry?
If you owned a pie shop and baked 100
pies to sell each day, how many ‘Steak
and Onion’ pies should you bake?

h What would be an example of an ‘Other’
flavour?

Nurisber of TV sets owned at home
a How many {working) TV sets are at your
home?
b i What is the most popular number of
TV sets owned per homa?
it Does this number represent more than
or less than half of all households?
Approximately what fraction of
houscholds own exactly one TV set?’
‘Less than half of all households own
three TV sets.” True or false?
What does ‘Other’ mean?
“More than % of all households own
either one or two TV sets,” True or false?

4 Items stolen in home burglaries
a Whichitem is stolen the most? Why?
I Which item is the second most stoten?
¢ Do burglars steal more audio equipment
or more video equipment?
Which two items combined together
make up é of all stolen property?
Do burglars steal more TV scts or more
computers?
Which item is stolen the least? Why?
Which three items together make up } of
all stolen property?
Which item is stolen about the same
amount as canleras?
Approximately what fraction of stolen
property is audio equipment, video/DVD
equipment and cash combined?
Tom’s $3500 holiday
Show how Tom spent $3500 on his holiday
by placing the following categories in the
appropriate sectors: Airfare: $1000, Hotel:
$600, Bus/Train: $100, Shopping: $1225,
Meais: $150, Theme parks: $280, Gifis/
souvenics: $150.

How Samantha spends one day
a 1 How many hours are in one day?
il How many degrees in a revolution?
b i How many hours does Samantha
spend at school?
ii What fraction of the day does
Samantha spend at school?

Which two of Samantha’s activities take

up the same amount of {ime?

i Which activity takes up the most time?

il How many hours does this take?
How much time does Samantha spend on
homework?

Which two activities together take up é

of the day?

Is more time spent on homework or TV?

What fraction of Samantha’s day is spent

on meals?

‘Samantha spends more than % of the day

asleep.’ True or false?

i What fraction of Samantha’s day is
spent eating, sleeping and travelling
combined?

ii How many hours is this?
Draw a sector graph to illustrate how yeu
spent your day yesterday.




e Xe Graphs 1

Use these graphs to answer the questions that follow.
For cach graph, describe in onte or two paragraphs what is being shown.

1. Altona Jeans sales (January-March) 2. Neil’s temperalure
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Worlksheet 13-03 continued

1 Altona Jeans sales {Fanuary-March)
This graph shows the sales figures for the
NSW branches of Altona Jeans.

a What type of graph is this?

b How many jeans does " represent?

¢ How many jeans were sold in:
i Moree? i Orange?
iii Kempsey?
Were more jeans sold in Kempsey or
Forbes?

t Which branch sold the fewest jeans?
ii How many did that branch sell?
Which branches sold 600 or more pairs of
jeans?

How many more jeans were sold in
Forbes than in Orange?

‘Goulbum sold more than twice as many
jeans as Orange.” Trwe or false?

What was the total number of jeans sold
in all stores?

Neil’s temperature
This graph shows Neil’s body temperature
over part of a day in hospital,

What type of graph is this?

For how many hours was Neil’s

temperature measured?

What was Neil’s temperature at:

i 8:.00am? il 11:00am? iii 9:30am?
| When was Neil’s temperature the
highest?

§i What was his temperature then?
At what time(s) was Neil’s temperature:

i 39.6°C? il 37.8°C? il 37.3°C?
Between which two consecutive hours
did Neil’s temperature drop dramatically?

i When was Neil's temperature lowest?
ii What was his temperature then?

How many times did Neil’s temperature
increase during the day?

Number of children per family
A number of families were surveyed
regarding their number of children. This
graph shows the results of the survey,
a What type of graph is it?
b How many famities had two children?
¢ 1 What was the most common number
of children in a family?
ii How many families had this number?

g

How many families had one child?
How many families were surveyed?
Which number of children was
represented in six families?

How many children in yonr family?

Endangeved species

a
b

What is shown on the horizontal axis?
Which country has the lowest number of
endangered species?

What is the secale on the veriical axis?
Which country has about 300 endangered
species? ' '
How many endangered species has
Australia?

Name one endangered species in
Australia.

What s the difference in the number of
endangered species in the USA and in
Australia?

“The TISA has more endangered species
than the other five countries put together.’.
True or false?

Reasons for road service
This graph shows the reasons road service
providers such as the NRMA are called ont.

a
b

g

What type of graph is this?

What is the most common reason for

road service?

What is the Ieast commion reason?

What percentage of service calls are for:
i flat tyres?

ii being locked out of the car?

Do more drivers have electrical problems
or ignition problems?

‘Flat batteries are the cause of over % of
road service calls. True or false?

What causes 5% of service calls?

Snowfall
This graph shows the depth of snow
increasing during a snow storm,

a
b

For how long did the snow storm last?

What is the scale on the horizontal axis of
the graph?

In which hour did the depth of snow
increase most?

What was the increase in depth between
10:00am and 12:00noon?

In which hour did the depth reach 21 mim?
i Tn which hour did the least snow fall?
ii How much snow feil in this hour?




1 Savings and loans -

This graph shows the savings and loans of the Bullion Credit Unien over 12 months,

a What type of graph is this? Savings and Loans, Bullion Credit Union

b What is shown on the horizontal axis? 110

¢ What is the scale on the vertical axis? 105 x

d What was the amount of savings in: 100 Sa f"g°

i March? ii Qctober? i

e What was the amount of loans in August?

£ Tn which month were savings lowest?

¢ In which month were loans highest?

h ‘The amount of loans is always
increasing.’” True or false?

i In which month did savings drop before 73T Aug Sep et Nov Dhee Tan Teb Mar AprMay Tun
going up again? Months

J Between which two consecutive months did the savings increase the most?

k Tn which month were: 1 savings $95 000 0007 if loans $93 000 0007

World population with projections

95
90
83
80

Funds ($ million)

World poputation with profections
This graph shows the estimated growth in
world population between 1950 and 2150.
‘What two types of graph have been
comibined here?
How many people does each figure
represent?
What is the scale on the horizontal axis?
What was the world population in 19507
In what year is the popuiation 19 billion?
What was the increase in world population
between 1950 and 20007
What is the meaning of “projection’?
How many people are there likely to be in
20907
In which 30-year period is the world
population estimated to rise the fastest?

-
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Popular holiday destinaiions
A total of 100 students were
surveyed about their favourite
holiday destination in Austealia.
Resuits are shown on the graph,
a What type of graph is this?
b How many students does one

unit on the graph represent?

i What was the most popular holiday destination?

i How many students chose this?

How many students chose the Northemn Territory?

What did 21 students choose?

Which two places were each chosen by the same number of students?

How many students altogether prefer Queensland destinations?

Which is the least popular destination?

What fraction of students chose either Thredbo or Tasmania?

In this activity, you will complete and use the conversion graph below to convert between US dollars
{US$) and Australian dollars (A$). : .
1 a What is shown on the horizontal axis of the geaph and what is the horizontal scale?
b What is shown on the vertical axis and what is the vertical scale?
¢ From the newspaper or Internet, find how much the US dollar is worth in Australian dollars
and then multiply by 100 to calculate how much US$100 is worth in A$ (call this n).
Alernatively, if yon don't have this information, use US$100= A$178 and mle a straight line
from the origin (0, 0} to the point P(100, 178) on the graph and go straight to Question 2.
@ Plot the point (100, n) on the graph and rule a straight line from the origin (0, 0) to that point.

2 Use the currency conversion graph to convert these UUS$ prices to Australian dollars.
a Photo camera, US$116 . b Theme park entry, US$44
¢ Movie DVD, US$24 d Ankle bracelet, US$56
¢ Motel rcom, US$82 per night f Sport shoes, US$65

3 Use the graph to convert these A$ prices to US$.
a Computer desk, A%136 b Music CD, AS24
¢ Video game, AS08 d Soccer ball, A$32
e Concert ticket, A$68 f Bieyele, A$184

4 By first mulliplying these prices by 10, using the graph to convert, and then dividing the
conversion by 10, convert these US$ prices to Australian dollars.
a Hamburger, US5$2.80 b Movie, US$8.50
¢ Book, US$5.40 d Movie video hire, US$4.60
e Train fare, US56.30 f Can of drink, US$0.65 (muliiply by 100)
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Olympic medals

. . — in New South Wal d the ACT The table on the right lists the number of medals BOLD SILVER BRONZE TOTAL
This table shows the distances in kilometres between places in New South Wales and the . won at the 2000 Olympic Games in Sydney. TETES STATES

Bega
970 [DBowrke

1250 | 616 |Broken Mill . TaLyY
277 e 1097 | Canberm 3 ::ft‘er China, \;;hat was the most successiul gﬁgmmus
sian country? GREAT BRIFAIN

977 | 95 1329 | 827 | Coffs Harbour 4 Why is The Netherland ked ab Cub ROMANLA
B y 15 1are Netherlands ranked above Cuba SOUTH XOREA
648 | 7HL | 641 | 495 | 1251 | Deniliquin 25 and Great Britain when it won fewer medals MRy
594 | 775 | 1159 | 444 394 868 | Newcastle : than them? How is this table ordered? JAPRN

. 2 5 BULGARIA
335 | 435 | 819 | 308 | 762 | 464 | 512 |Parkes ; ; 5 How many conntries won more than GREECE

425 | 785 | 1169 | 293 554 171 365 | Sydney L 10 medals? ﬁ‘sﬁnﬂ:{
825 | 644 | 1028 | 675 [ 301 283 | 461 | 422 | Tumworth 6 How many countries won more than 10 gold
393 7327 857 245 613 276 462 73T | Wagga Wagga : medals?

345 3I8 1266 | 238 250 298 30 481 408 | Wollongong 5 7 How many medals did South Africa win?

1 Which country won the most silver medals?

2 How many gold medals did Canada win?

RN

—-
=

£ G2 63 L3 NS O G L

=3

=

11 3 e ead TURKEY
1 Find the dislance between; 8 Hf)w many silver medals did the Ukraine GZECH REPLALIC
win? KENYA

a Sydney and Canberra Deniliquin and Broken Hill 3 BENMARK
Bourke and Wollongong Newcastle and Bega 9 What was the most successful African

Cofis Harbour and Parkes Wagga Wagga and Canberra country?
Tamworth and Coffs Harbour Bega and Wollongong 10 Which three countries won 11 bronze medals

Find the place that is: each?

a 1329 km from Coffs Harbour 996 km from Wagga Wagga S 11 Which two countries won exactly one of each o
¢ 227 km from Canberra d 868 km from Deniliguin type of medal? ZBExiSTAN
e 171 km from Newcastle f 435 km from Parkes 12 Which three countries won three gold and YUGOSLAVIA

. ; s G SAHAMAS
Find the two places that are separated by a distance of: three silver medals each? Eggﬁﬁmm
a 80km b 616 km : 13 How many countries won gold and bronze, THAILARD

i CROATLA
¢ 648km : d 819km but not silver? CAEROO
e [136km f 308 km 14 How many countries won the same amount of ,,ﬁ%%%‘?wg
- silver medais as gold medals (excluding those TAbhiEA

who won neither)? HIGERIA
15 How many gold medals did Uzbekistan win?

Find the place that is closest to:
a Coffs Harbour Wollongong
¢ Newcastle Broken Hill

e Canberra Cofis Harbour 2 3 16 Which country won the most bronze medals? mm@gﬁmm
17 a How many countrics only won one medal? {i%*{?.'a\',‘f"“

i 5 SAUDI ARASIA
b Which of these countrics won a gold S DAD I0 TOBAGD
medal? RELAND

Find the place that is facthest from: )

a Deniliquin Wagga Wagga
¢ Parkes Tamworth

€ Sydney Bega ; 18 Which country won the most medals without
winning a bronze?

Find the distance from:

a Sydney to Bega via Canberra

b Wagga Wagga to Tamworth via Newcastle

¢ Wollongong o Deniliquin via Wagga Wagga
d Newcastle to Parkes via Sydney

19 a How many countries won no gold medals,
but some silver and bronze?
b Which of these countries performed best?

20 Namg the eight countiries that won the same gﬁﬁ,‘?‘“‘"

number of bronze medals as gold and silver

put together. !-'AB:ROUHLA

QAT
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The table on the right lists the number of medals
won at the 2000 Olympic Games in Sydney.

20

Which country won the most silver medals?
How many gold medals did Canada win?

After China, what was the most successful
Asian country?

Why is The Netherlands ranked above Cuba
and Great Britain when it won fewer medals
than them? How is this table ordered?

How many countries won more than
10 medals?

How many countries won more than 10 gofd
medals?

How many medals did South Africa win?

How many silver medals did the Ukraine
win?

What was the most successful African
countey?

‘Which three countries won 11 bronze medals
each?

Which two countries won exactly one of each
type of medal?

Which three countries won three gold and
three silver medals each?

How many countries won gold and bronze,
but not silver?

How many countries won the same amount of
sitver medals as gold medals ¢excluding those
who won neither)?

How many gold medals did Uzbekistan win?

Which country won the most bronze medals?

a How many countries only won one medal?
b Which of these countries won a gold
medal?

Which country won the most medals without
winning a bronze?

a How many countries won no gold medals,
but some silver and bronze?
b Which of these countries performed best?

Name the eight countries that won the same
number of bronze medals as gold and silver
put together,

GOLD  SILVER

BRONZE YOTAL

TALY
NETHERLANDS
CliBA

GREAT BRITAIN
ROMAHLA
SOUTH KGREA
RUNGARY
POLARD

JAPAN
BULGARIA

TURKEY

GZECH REPLIBUG
KE}

GENMARK
FHLAND

AUSTRIA
EITHUANIA

LOR

CHINESE TAIPE)
HORTH KOREA
MOLDIWA
SAUD] ARABIA
TRINICAD ARD TOBAGD
|RELAND
URUGUAY
VIETNAY
GEQRGIA
GOSTA RICA
PORTUGAL
ARMENIA
BARBADOS
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The answers to this crossword puzzle are listed below in al

correct places.

Graphs crossword

phabetical order. Arrange them in the
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AXIS

BAR

CHART
CLUSTER
CODE
COLOUR
COLUMN
CONVERSION

DISTANCE
DIVIDED
GRAPH
HORIZONTAL
KEY

LINE
PICTOGRAM
PICTURE

PIE

POINT
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SCALE
SECTOR
STATISTICS
STEP
SYMBOL
TABLE
TIMETABLE
TRAVEL
VERTICAL




